
Homework 3 – Solutions 
3) 

4) Dimensions of £1 coin: Max diameter 23.43mm, thickness: 2.80mm
Rounded values: 25mm, 3mm
Estimated volume: 𝜋 × 12.52 × 3 = 1473…mm3

Total volume: 1473 × 5000 = 7,365,000mm3

7,000,000mm3 = 7 litres
∴ small enough volume to fit into a bag

Weight of £1 coin: 8.75g
8.75 × 5000 = 43,750g
Weight is about 44kg, this is probably too heavy to run away with.

5) 

1) 

2) Assumptions: Distance 1000km to 2000km
Steps per day: 20,000 to 60,000
Average stride length 50cm to 1m
OR
Walking speed 3km/h to 6km/h
Hours walked per day 8-10

Calculations: Distance walked per day (using steps per day):
20,000 × 50 = 1,000,000cm = 10,000m = 10km
60,000 × 1 = 60,000m = 60km

Distance walked per day (using walking speed):
3 × 8 = 24km
6 × 10 = 60km

Days needed:
1000 ÷ 60 = 17 days
2000 ÷ 10 = 200 days

Answer: between 17 and 200 days

sx=93.1(86…) 93.2
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7) 

9)   a) Quantitative b) Qualitative c) Quantitative 

8) 


